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QUESTION 1

Which three methods can a vSphere administrator use to automatically synchronize time on a ESXi host? (Choose
three.)

A. Log in to the VMware Host Client, navigate to Host > Manage > Time and date and click Edit settings.
B. Configure the VMware Tools time synchronization.

C. Select the host in the vSphere Web Client, navigate to Configure > System > Time Configuration and click the Edit
button.

D. Use the vicfg-ntp command.
E. Use the esxcli hardware clock get command in the ESXi Shell.

Correct Answer: ACD

QUESTION 2

Which two choices are valid ways to patch an ESXi host? (Choose two.)
A. VRealize Operations Manager

B. vSphere Update Manager

C. configuring a Host Profile

D. utilizing the esxcli Command Line Interface

Correct Answer: BD

Reference: https://kb.vmware.com/s/article/2020972

QUESTION 3

What is required to create a vSphere Distributed Switch? (Choose two.)
A. vSphere Enterprise Plus licensing is required.

B. Login to the ESXi Host with the Root account.

C. A minimum of two physical uplinks is required.

D. The host is added to a vCenter Server.

Correct Answer: AD

Reference: https://kb.vmware.com/s/article/1010555
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QUESTION 4

What describe a set of patches that meet certain criteria and will vary as the available patches change?
A. Upgrade Baselines

B. Fixed Patch Baselines

C. Host Profiles

D. Dynamic Patch Baselines

Correct Answer: D

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%
2Fcom.vmware.vsphere.update_manager.doc%2FGUID-95A71727-BOFA-4144-9E572C41640047DD.html

QUESTION 5

A vSphere administrator uses vMotion to migrate a virtual machine between two ESXi hosts and notices that they can
no longer ping the VM.

What is the cause?

A. The destination host has an incorrect VLAN tag on the virtual machine port group for the VM.
B. The destination host has two port groups with the same VLAN tag.

C. There is an MTU mismatch.

D. The virtual machine has RDMs attached.

Correct Answer: B
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